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= = HEHVE E HEHVE | o= = AN = B HN 5 =
&5 X 4 ,(:.—r,nz_: ‘Fm;ﬁ(z)ﬂ)ﬁﬁﬁﬁ 73(5;3::;_%)3 X 4 'Finﬁﬂgé’zg)n;kiF r(ar,';c)k 73(:33:33 X 4 .(Er::c; J:m;b(z)())tt.s. jj(ﬁ?tf)é X 4 J:m;b(z)o)tt.s. .(Er;a; jj(ﬁ?tr:f)é
7 100kN/m%E#B25 | 1.00 | 000 ~ 254 139.92 |3m#Z#BZ 3| 000 ~ 0.00| 3.00 15,17 | 100kN/m%#B25 | .00 | 11.52 ~ 2292 1839.92 |3m&#BzZ5| 2000 ~ 2292 3.00 156.17
st 1.00 | 264 ~ 1033 100.00 | =0t | 0.00 ~ 1033 3.00 156.16 Thst 1.00 | 5.00 ~ 1152 100.00 | =hst | 5.00 ~ 2000 3.00 15.16
2 100kN/m#E#BZ5| 100|000 ~ 238 137.24 |3m&E#BZB| — ~ — — — | 100kN/ %825 | 1.00 | 1080 ~ 2034\ 137.24 |3m&E#Z5 - ~ — — —
zhLst 1.00 | 288 ~ 1017 100.00 | =0yt | 0.00 ~ 1017| 2.86 14.45 znLst 1.00 | 5.00 ~ 1080 100.00 | #nst | 6.00 ~ 20.31| 2.86 14.45
3 100kN/m%#8z5 | 1.00 | 000 ~ 1.09| 116.34 |3mE#Bz5B| — ~ — — — | 100kN/m%#8=2% | 1.00 | 11.51 ~ 1610| 116.34 |3mE#BZ5 - ~ — — —
st 1.00 | 1.09 ~ 887 100.00 | =nLst | 000 ~ 887|217 10.97 Thlst 1.00 | 5.00 ~ 1151 100.00 | =hst | 6.00 ~ 1610|217 10.97
4 100kN/m#E#BZ5 | 1.00 | 000 ~ 044 106.44 |3mZEBAB| — ~ — — — | 100kN/ %825 | 1.00 | 11.07 ~ 1248| 106.44 |3m%E#BZ5 - ~ — — —
st 1.00 | 044 ~ 822 100.00 | =nhst | 000 ~ 822\ 2.04 10.31 st 1.00 | 6.00 ~ 1107 100.00 | =hst | 6.00 ~ 1248| 2.04 10.31
5 100kN/mM#{BZ % — - ~ — —|3mZEBZB| — ~ — — — | 100kN/mM%#8% % — - ~ — —|3m%iBZ % - ~ — — —
Lt 1.00 | 0.00 ~ 4.94 61.57 | FnLS | 000 ~ 4.94 | 1.91 9.67 Thst 1.00 | 5.00 ~ b6.59 61.57 | NS | 500 ~ 5569 1.91 9.67
p 100kN/m##82% | 1.00 | 000 ~ 221 134.31 |3mZ#BAB| — ~ — — — | 100kN/m%#8=2% | 1.00 | 1065 ~ 2043| 134.31 |3m&E#Z5 - ~ — — —
ZhLst 1.00 | 221 ~ 999 100.00 | #hst | 000 ~ 999 | 2.62 13.23 st 1.00 | 6.00 ~ 1065 100.00 | #ns | 6.00 ~ 2043)| 2.62 13.23
- 100kN/m%#825 | 1.00 | 000 ~ 1.50| 12285 |3mx#Bz25| — ~ — — — | 100kN/m%E#Z25 | 1.00 | 11.64 ~ 1927 12285 |3mx#Bz2% - ~ — — —
ThLlst 100|150 ~ 928 100.00| FhLs | 000 ~ 928 2.16 10.91 TnLst 100 5600 ~ 1164 100.00| ThLS | 500 ~ 1927)| 2.16 10.91
P 100kN/m%#825% | 1.00| 000 ~ 092 11386 |3mEB2B| — ~ — — — | 100kN/m%#8=2% | 1.00 | 11.89 ~ 16.01 115.86 |3m%Ei#BZ5 - ~ — — —
ThLlst 1.00 092 ~ 871 100.00 | #npst | 000 ~ 871|214 10.82 TnLst 100 500 ~ 11.89| 100.00 | ThL4 | 500 ~ 1601 2.14 10.82
9 100kN/m%#825% | 1.00| 000 ~ 1.45| 121.98 |3mx#Bz25| — ~ — — — | 100kN/m%E#Z25 | 1.00 | 1053 ~ 1533 121.98 |3m%x#Bz% - ~ — — —
ThLlst 100|145 ~ 923 100.00| FhLs | 000 ~ 923 2.37 11.97 TnLst 100|500 ~ 1053 100.00| ZhLS | 5,00 ~ 1533| 2.37 11.97
10 100kN/m%#825% | 1.00| 000 ~ 1.68| 12574 |3mEHB2B| — ~ — — — | 100kN/m%E#z25 | 1.00 | 11.61 ~ 20.76 | 125.74 |3mE#BZ3 - ~ — — —
ThLlst 100|168 ~ 947 | 100.00| FhLs | 000 ~ 947 | 2.46 12.46 Fhst 1.00 | 500 ~ 1161 100.00 | #nLst | 6,00 ~ 20.76 | 2.46 12.46
11 100kN/m%Z#Bz25 | 1.00 | 000 ~ 258| 14048 |3mEBZB| — ~ — — — | 100kN/m%E#Z25 | 1.00 | 1056 ~ 21.67| 140.48 |3mE##BZ% - ~ — — —
st 1.00 | 2568 ~ 1036 100.00 | FThs | 000 ~ 1036 2.76 13.93 Fhst 1.00 | 6.00 ~ 1056 100.00 | TN | 65,00 ~ 21.67| 2.76 13.93
12 100kN/mM%EBZ5 | 1.00 | 000 ~ 297 14713 |3mEEZD| 000 ~ 0.18] 3.10 15.67 | 100kN/m%i#Bz5 | 1.00 | 1055 ~ 2532 14713 |3m&E#Bz5| 2500 ~ 2532| 310 156.67
ThLlst 100|297 ~ 1075 100.00 | This | 018 ~ 1075] 3.00 15.16 ZnLst 1.00 | 6.00 ~ 1055 100.00 | TR | 65,00 ~ 2500]| 3.00 156.16
13 100kN/m%#825% | 1.00| 000 ~ 280 | 14418 |3mzEBz2B| — ~ — — — | 100kN/m%E#Z25 | 1.00 | 1057 ~ 2532 144.18 |3m%E#Bz2% - ~ — — —
FhLst 1.00 | 280 ~ 1058 100.00 | TS | 000 ~ 1058 2.99 15.09 Zhst 1.00 | 6.00 ~ 1057 100.00 | TR | 65,00 ~ 2532| 2.99 15.09
14 100kN/mM%#825 | 1.00 | 000 ~ 281 144.46 |3mZE#BASH| — ~ — — — | 100kN/mM%E#Z25 | 1.00 | 1059 ~ 2582 144.46 |3mE#BZ% - ~ — — —
ThLlst 100|281 ~ 1060 100.00| This | 000 ~ 1060] 298 15.04 ZhnLst 1.00 | 6.00 ~ 1059 100.00 | Thst | 600 ~ 2582|298 15.04
100kN/ MZ#2Z % ~ ImEHBRD ~ 100kN/ Mm%z 5 ~ 3mEERD ~
Thsn ~ zhsn ~ ZznLst ~ ZnLst ~

EFE



